








2
S100

3
S100

4
S100

34' - 4" 34' - 4"

6" CONC. SLAB

W24x104 W24x104

S101
2

FOR TRUSS TO BEAM CONNECTION,
SEE
TYP, TWO TRUSSES ADJACENT TO
COL ON EA SIDE

/1 S101

FOR TRUSS TO BEAM CONNECTION
SEE
TRUSS ON TOP OF COL &
(2) ADJACENT TRUSSES
SUPPORTED BY STEEL BEAM

/1 S101

T/FINISHED FLOOR
100' - 0"

T/STEEL
120' - 0"

3/4" x 1'-4" x 1'-4" BASE PLATE W/
(4) 3/4" Ø F1554 GR 36 THREADED
ANCHOR BOLT W/ HEAVY
HEX HEAD. 12" EMBED

H
SS

9.
62

5"
Ø

x1
/2

"

W24x104

3/8" x 3" x 1' - 9" LG PL
W/ (7) 3/4" Ø A325 BOLTS1/2" CLR

1/4

1/4

TY
P

3/
4"

TY
P

1 
1/

2"
3"

 T
YP

1'-6" x 6'-6" x 6'-6" THK SLAB
W/ (7) #5 EW

6"
 S

LA
B

1/4

1 1/2" NON-SHRINK GROUT

C
LR3"

T/FINISHED FLOOR
100' - 0"

T/STEEL
120' - 0"

H
SS

10
"Ø

x5
/8

"

W24x104W24x104

1'-6" x 8'-6" x 8'-6' THK SLAB
W/ (9) #7 EW

3/4" x 1'-4" x 1'-4" BASE PLATE W/
(4) 3/4" Ø F1554 GR 36 THREADED
ANCHOR BOLT W/ HEAVY
HEX HEAD. 12" EMBED

3/8" x 3" x 1'-9" LG PL
W/ (7) 3/4" Ø A325 BOLTS

TY
P

3/
4"

TY
P

1 
1/

2"

TY
P

3"

1/4

1/4
TYP

6"
 S

LA
B

1/4

3
S101

1 1/2" NON-SHRINK GROUT

C
LR3"

T/FINISHED FLOOR
100' - 0"

T/STEEL
120' - 0"

1/4

1/4

W24x104

H
SS

7.
5"

Ø
x1

/2
"

TY
P

3/
4"

TY
P

1 
1/

2"
TY

P
3"

3/8" x 3" x 1'-9" LG PL
W/ (7) 3/4" Ø A325 BOLTS

6"
 S

LA
B

3/4" x 1'-2" x 1'-2" BASE PLATE W/
(4) 3/4" Ø F1554 GR 36 THREADED
ANCHOR BOLT W/ HEAVY
HEX HEAD. 12" EMBED

1'-4" x 1'-4" x 6'-0" PIER
W/ (4) #5 VERTS, #3 TIES
@ 12" OC & TOP (3) @ 3"

5'-6" x 5'-6" x 1'-0" THK FTG
W/ (6) #5 EW

1/4

TYP
1/4"

T/FOOTING
96' - 0"

4
S101

1 1/2" NON-SHRINK GROUT

C
LR3"

T/WALL
102' - 0"

Sheet Title:

C
LI

E
N

T:

S100

FLOOR PLAN

B
E

S
T
IM

A
T
E

 L
L
C

7
1
4
 E

 N
IN

T
H

 S
T

M
A

R
S

H
F
IE

L
D

,
W

I 
5
4
4
4
9

 1/4" = 1'-0"S100

T/FINISHED FLOOR1

 1/2" = 1'-0"S100
2 SECTION - COLUMN

 1/2" = 1'-0"S100
3 SECTION - MIDDLE COLUMN

 1/2" = 1'-0"S100
4 SECTION - WALL COLUMN



W24x104

BLOCKING, TYP

W24x104

TRUSS BY OTHERS

TRUSS BY OTHER

6"
3"

1'
 - 

0"
3"

6"

5 
1/

2"

L4x4x3/8x2'-4 1/2" LG W/ (6)
3/4" Ø A325 BOLTS, TYP

2x12 NAILER

1'
 - 

4"

8"

SQ5'
 - 

6"

HSS7.5"Øx1/2"

EXTERIOR WALL

2' - 1" 1' - 5"

1' - 4"

1'
 - 

4"(4) 7/8" Ø HOLES

1 1/2" 1' - 1" 1 1/2"

1 
1/

2"
1'

 - 
1"

1 
1/

2"

1' - 2"

1'
 - 

2"

(4) 7/8" Ø HOLES

7 1/2"3 1/4" 3 1/4"

7 
1/

2"
3 

1/
4"

3 
1/

4"

C
LI

E
N

T:

S101

B
E

S
T
IM

A
T
E

 L
L
C

7
1
4
 E

 N
IN

T
H

 S
T

M
A

R
S

H
F
IE

L
D

,
W

I 
5
4
4
4
9

 3/4" = 1'-0"S101
1 DETAIL - TRUSS CONNECTION

 1/2" = 1'-0"S101
2 DETAIL - EXTERIOR WALL COLUMN

 3/4" = 1'-0"S101
3 DETAIL - BASEPLATE

 3/4" = 1'-0"S101
4 DETAIL - WALL COLUMN BASEPLATE


